
1.  Josh poured 38 gallons of water into 6 
buckets. He poured the same amount into each 
bucket. How much water did Josh pour into 
each bucket?

 A) 6 and 4/6 gallons

 B) 6 and 1/2 gallons

 C) 6 and 1/3 gallons

 D) 6 and 1/6 gallons 



2.  James will draw a rectangle with an area of 
25 square inches. Which set of measurements 
can James use?

 A) length = 5 and 1/2 in., width = 5 in.

 B) length = 5 and 3/4 in., width = 4 and 3/4 in.

C) length = 12 and 1/2 in., width = 2 in.

D) length = 12 and 1/2 in., width = 12 and 1/2in.



3.  Jim has 1/2 pound of raisins. He put the 
raisins into 4 bags. He put the same amount 
into each bag. What amount of raisins did Jim 
put into each bag?

 A) 1/4 pound

 B) 1/6 pound

 C) 1/8 pound

 D) 1/10 pound

R



4.  The total length of three boards is 7/8 of a 
yard. The lengths of two of the boards are 1/4 
of a yard and 3/16 of a yard. What is the 
length of the third board?

 A 9/16 of a yard

 B 1/2 of a yard

 C 7/16 of a yard

 D 3/8 of a yard 
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